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5 : Answer any ONE FULL question from each umt
L ALL questions carry EQUAL marks..

UNIT-1I

' vl,. What are the char'aéteris't‘icsvof gooa timber ? Mention the various forms of industrial
_timber and highlight the uses of each form. | o (15)
i i (©OR) -

v ‘Wh.at are the ingfedients of Portland cement? EXplain the functions of each in
ingredient. Also, explam the wet process of manufacturmg of cement with the aid of “Flow :

' 'Dlagram : : v i e i s (15)
- UNIT-1I
| 3." Explain deep foundation with neat sketches. ‘ (15)
(OR)
4. Define foundation and explain briefly the choice of foundation based on the type of soil. _
UNIT-1II
5. Explain the types of staircases with neat sketch. , ‘ ; (15)
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Name of the Candidate :

‘l‘-‘.‘;:‘”Enemurate rock formmg mmerals lee a generai account of thelr chemlcal and o
T R ‘physmalprOpemes 8 SN (15) g

__.--""(a) Ohvme ‘; (b) Garnct (c) Epldote

3. Enemuratein detai

Register Number :

CLEc-saum:LEc-m mmnn‘mmc GEOLGGY |
[Tlme 3Hours' -

Max:mum 75 Marks
( Max:mum 60 marks for those who ;mnedﬂbefom 201 I- 12 )

o Answer any ONE FULL quesnon fram eaah umt
L ALL quesrions carry equal marks |

(OR)

2% Mentlon the most distmgulstmg physwal propertles of the followmg rrunerals

".i"—.(d)raryle (e)Mlca- oas

4. Classify sedimentary rocks. Explain thembriefly. ~~ ~~~ (15)

' UNIT -1I1 -
5. List'the faultandexplaint'hembrieﬂy.' o i I' . " e (15)
o el
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. Describe briefly the unconformity and overlap.

- UNIT-1V.

. Write shon notes an the followmg

() Magmtu_de (b)) Selsmographs ,'(c)j Earthquake
(OR)

- (a) Describe the causes and p;eventicn of landslide.

(b) Explain the need for soil conservation.

- UNIT-V

. Give a brief crit{cél account of geology and Occurrence of ground water.

(OR)

: Exp]am the geologlcal condltlons necessary for alignment of tunnels.

(13)

(15)

(15)

as)
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 Answer any ONE FULL question from each unit
ALL questions carry EQUAL marks.
JUNIT -1

1. (a) Apiston 796 mm diameter and 200 mm long works in a cylinder of 800 mm dimeter. If
the annular space is filled with a lubricating oil of viscosity 5 centipoise, calculate the
speed of descent of the piston in vertical posmon The weight of the pxston and axial
load are 9-8IN. ' ; (10)

~(b) Define relatljve densiy and kinematic viscosity. : Py ¢ (YR

(OR)

- 2. Two large plane surfaces are 2-4 cm apart. The space between the surfaces is filled with ’
glycerine. What force is required to drag a very thin plate of surface area 0-5 square metre .

between the two large plane surfaces at speed of 0-6m/s, if

”~'(a) the thm plate 1s in’ the mlddle of the two large plane surfaces and

! (b) the thin plate is at a distance of 0-8 c¢m from one of the plane surfaces? ‘
Take the dynamic viscosity of glycerine as 8:1x107! Ns/mr e VI (15)
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UNIT Ir

| A WOdden cyhnder of specﬁic gravity 0- 6 and cucular in cross section is requu'ed to ﬂoat in - - 3
' .oﬂ of speclﬁc gravxty 0 90. Find the L/D ratio for the cylinder to float with its longltudmal i

axis verttcal in oil, whereLls the helght of the cylinder anles the dlameter o sy
i e sion A
. '.:('a)' Deﬁne t'he.tellnls- e '
| G) Buoyancy "(ii) 'Meta=Centre PR | _7 )
" -(h) Explaln the working of dlfferentxal manometer w1th neat sketch (10)
UNIT-1 |

. Imatwo d1mens1onal incompressible flow, the fluid velocity components are g1ven by
uU=X-— 4y and v=-—y - 4x Show that veloc1ty potentlal ex1sts and determine its form. Fmd‘ e th o
also the stream functlon e 26 R i St Y _(l_S) LY

(OR)

. Water ﬂoWs through a plpe AB 1: 2 m dlameter at 3 m/s and then passes through a plpe BC-‘-'.": R

: 1 5m dlameten AtC, the pipe branches Branch CD is 0-8 m in diameter and carriesone =~ . il
< 'th]rd of the flow in AB. ‘The flow veloelty in branch CE is 2+5 m/s. Find the volumc rateof ¢
~ flow in AB, the velocity in BC, the veloc1ty in CD and the diameter ofCE. ~  ( 15) oe

UNIT Iv

. A horlental pnpe 40 m long is connected to a water tank at one end and dlscharges freely .

SR mto the atmosphere at the other end. For the first 25 m of its length | from the tank, the pipe " e

bt 3 ;':f (is 150 mm dlameter and its diameter is 'suddenly enlarged to 300 mm. The helght of Water_ ;
ﬁlevel in the tank is 8 m above the centre of the pipe. Cons:dermg all losses of head which

oceur, determine the rate of flow. Take *f” a5 0:01 for both sectlons of the plpe (15)

- (OR)

. (a) ‘Define the te"l"ms :

(1) Hydrauhc Gradient Lme (ii)_ Total Energy Line. _
(111) Reynold’s Number a7 .' i T | (3) -




3
(b) Apipe line of length 2000 m is used for power transmission. If 110-3625 kW power is
to be transmitted through the pipe in which water having a pressure of 490-5 N/em? at
inlet isflowing. Find the diameter of the pipe and efﬁciency of transmission if the
pressure drop over the length of pipe is 98-1 N/em? Take‘fas 0-0065. (7
UNIT -V
9. Explain the following :

(a) Total head. (b) Critical depth.  (c) Critical velocity.

(d) Pitot tube. : (e) Hydraulic jumb. - (15)
| (OR)

10. (@) Describe in detail about the construction and working principle of Rotameter. (10)

(b) Explain the term most economical section of a channel. B ' e )




